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Instructions for the Candidate - পরীক্ষাথর্ীেদর জনয্ িনেদর্শনা:

‚ For all questions, the process involved in arriving at the solution is more important than the
answer itself. Valid assumptions / approximations are perfectly acceptable. Please write your
method clearly, explicitly stating all reasoning.
পৰ্িতিট পৰ্েশ্নর জনয্ই উত্তেরর েচেয় সমাধােনর পৰ্িকৰ্য়া েবিশ গুরুতব্পূণর্। যুিক্তপূণর্ অনুমান/অয্াপৰ্িক্সেমশন পুেরাপুিরভােব
গৰ্হণেযাগয্। সমাধােনর িবশদ ও স্পষ্ট বয্াখয্া আমােদর পৰ্তয্ািশত।

‚ Be sure to calculate the final answer in the appropriate units asked in the question.
চূড়ান্ত উত্তর পৰ্শ্ন অনুযায়ী সিঠক একেক গৰ্হণেযাগয্।

‚ Non-programmable scientific calculators are allowed.
নন েপৰ্াগৰ্ােমবল সােয়িন্টিফক কয্ালকুেলটর গৰ্হণেযাগয্।

‚ The mark distribution is shown in the [ ] at the right corner for every question.
পৰ্িতিট পৰ্েশ্নর েশেষ [ ] বন্ধনীেত নমব্র বন্টন েদয়া আেছ।

‚ The exam duration is 1 hour and you’ll have extra 15 minutes to compile the answers and
submit the PDF into the designated portal.
পরীক্ষার সময় ১ ঘন্টা, উত্তরপতৰ্ িপিডএফ বানােনা এবং জমা েদয়ার সময়কাল ১৫ িমিনট।
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Useful Constants and Formulas

Mass of the Sun Md « 1.989 ˆ 1030 kg
Mass of the Earth M‘ « 5.972 ˆ 1024 kg
Mass of the Moon MK « 7.347 ˆ 1022 kg
Radius of the Earth R‘ « 6.371 ˆ 106 m
Radius of the Sun Rd « 6.955 ˆ 108 m
Speed of light c « 2.99 ˆ 108 m
Astronomical Unit(AU) a‘ « 1.496 ˆ 1011 m
Solar Luminosity Ld « 3.826 ˆ 1026 W
Gravitational Constant G « 6.674 ˆ 10´11 Nm2kg´2

1 parsec 1 pc = 3.986 ˆ 1016 m
Stefan’s constant σ = 5.670 ˆ 10´8 Wm2K´4
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১. MCQ
Answer the following multiple choice questions. Each question contains 1 mark.
িনেচর বহু িনবর্াচনী পৰ্শ্নগুিলর উত্তর দাও। পৰ্িতিটর জনয্ ১ নমব্র।

a. On June 21st, an observer in the Northern hemisphere notices that the maximum and minimum
length of shadow of a 1.0 m pole is 16.3 m and 1.05 m respectively. What is the latitude of
the observer?
জুেনর ২১ তািরেখ উত্তর েগালােধর্ অবিস্থত একজন পযর্েবক্ষক েদখল েয একিট ১ িমটার লমব্া লািঠর ছায়ার সেবর্াচ্চ ও সবর্িনম্ন
ৈদঘর্য্ যথাকৰ্েম 16.3 m এবং 1.05 m। পযর্েবক্ষেকর অক্ষাংশ কত?

i. 10 degrees N

ii. 25 degrees N

iii. 55 degrees N

iv. 70 degrees N

b. At 9 p.m, Castor, Regulus and the Heart Nebula can be seen in the night sky. Which
astronomical season is it currently?
রাত ৯ টার সময় Castor, Regulus এবং Heart Nebula রােতর আকােশ েদখা যােচ্ছ। এখন েকান ঋতু চেল?

i. Autumn

ii. Summer

iii. Winter

iv. Spring

c. The star R136a1 has the highest luminosity of any known star at 3.33 ˆ 1033 W. It has an
estimated surface temperature of 53,000 K. Supposing R136a1 only emits photons at it’s peak
wavelength, calculate the number of photons emitted each second.
R136a1 নােমর একিট তারার মহািবেশব্ জানা তারাগুেলার মেধয্ দীিপ্ত (ক্ষমতা) সবেচেয় েবিশ যা িকনা 3.33ˆ1033 ওয়াট।
এই তারার পৃষ্ঠ তাপমাতৰ্া পৰ্ায় 53,000 েকলিভন। যিদ তারািট শুধু সেবর্াচ্চ তরঙ্গৈদেঘর্য্ই েকবল িবিকরণ কের তাহেল, পৰ্িত
েসেকেন্ড তারািট েথেক কতিট েফাটন েবর হয়?

i. 9.18 ˆ 1040 photons

ii. 9.18 ˆ 1045 photons

iii. 9.18 ˆ 1055 photons

iv. 9.18 ˆ 1050 photons

d. You are lost in a tropical forest at night. The crescent moon forms a sad face at you low in the
sky because you have forgotten to bring a compass. Which of the following options correctly
matches the moon phase and the part of the sky it is in?
তুিম টৰ্িপকাল জঙ্গেল রােত হািরেয় েগেছা। িকৰ্েসন্ট চাঁদ আকােশ েদখা যােচ্ছ যা অেনকটা দুঃিখত মুখভিঙ্গ করেত েদখা যােচ্ছ।
িনেচর েকানিট চাঁেদর কলার সিঠক অবস্থা?

i. Waxing, east

ii. Waxing, west
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iii. Waning, west

iv. None of the above

e. A binary system with two stars has a head-on inclination of 90˝. The first star has an effective
temperature of T1 and radius R1. The second star has an effective temperature of T2 = 2.5T1

and radius of R2 = 0.75R1. When the larger star eclipses the smaller one, what is the change
in bolometric magnitude?
একিট েজাড়াতারা বয্বস্থার ২িট তারােক এমনভােব েদখা যােচ্ছ েযন এরা এেক অপরেক গৰ্হণ করেত পাের, যােক Head
On অবস্থা বেল। পৰ্থম তারািটর বয্াসাধর্ R1 এবং পৃষ্ঠ তাপমাতৰ্া T1। অপর তারািটর বয্াসাধর্ R2 = 0.75R1 এবং তাপমাতৰ্া
T2 = 2.5T1। যখন বড় তারািট েছাট তারােক গৰ্হণ লাগায় তখন সমূ্পণর্ বয্বস্থািটর ঔজ্জব্লয্ কত?

i. 0.7

ii. 1.4

iii. 2.8

iv. 3.4

২. Sun As a Cube
Like everything in Minecraft game, an Astronomer started thinking what will happen if our Sun
would have been a square of similar luminosity.
একিট েজয্ািতিবর্জ্ঞানী ভাবা শুরু করল, িক হত যিদ মাইনকৰ্াফট েগেমর মত আমােদর সূযর্ আসেল বগর্াকার একিট একই দীিপ্তর তারা
হত?

a. If the Sun was a cube, what would be its surface temperature?
যিদ আমােদর সূযর্ একিট বগর্াকার তারা হত তাহেল সুেযর্র পৃষ্ঠ তাপমাতৰ্া কত হেব?

b. In what interval, does its magnitude lie as seen from the Earth?
পৃিথবী েথেক পযর্েবক্ষণ করেল, এই নতুন সূেযর্র ঔজ্জব্লয্ মােনর সীমা কত হেব (সেবর্াচ্চ এবং সবর্িনম্ন)।
Hint: The volume for Cube Sun remains the same as usual.

৩. To the aid of Arabella
On April 16, 1664, one of the members of the Arabella crew found himself on a desert island. Waiting
for a hard night, and watching the homemade sun clock, he determined that at noon the length of
the shadow from the stick was 5 inches. The shadow was directed to the north. The stick itself was
5 feet long. Help the sailor determine his latitude, knowing that he is in the northern hemisphere.
One foot is 12 inches.

১৬ই এিপৰ্ল, ১৬৬৪ সােল Arabella জাহােজর একজন সদসয্ একিট জনমানবহীন দব্ীেপ িনেজেক আিবষ্কার কের। কিঠন রােতর
অেপক্ষায় এবং েকােনামেত বানােনা একিট সূযর্ঘিড় িদেয় েস েবর করল েয মধয্ােহ্নর সময় একিট লািঠর ছায়ার ৈদঘর্য্ িছল ৫ ইিঞ্চ।
লািঠটা ৫ ফুট লমব্া িছল এবং উত্তেরর িদেক তাক করা িছল। নািবকেক তার অক্ষাংশ জানেত সাহাযয্ কর।
আমরা জািন এক ফুট ১২ ইিঞ্চ।
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৪. Asteroid Belt
A main-belt asteroid with mass MA = 1018 g and radius RA = 6 ˆ 105 cm initially lies in a circular
orbit with radius r = 3 AU. It suffers a collision that suddenly and drastically changes its orbit;
afterwards, its elliptical orbit is completely enclosed by its old one, and its perihelion distance is 1
AU.
একিট গৰ্হাণুর ভর MA = 1018 g এবং বয্াসাধর্ RA = 6 ˆ 105 cm যা আপাতত বৃত্তাকার কক্ষপেথ আেছ যা বয্াসাধর্ r = 3

AU। এই গৰ্হাণু পৰ্ায় িবিভন্ন সংঘেষর্ িলপ্ত হয় যার ফেল পৰ্ায় এর কক্ষপথ পিরবতর্ন হয়। অবেশেষ এিট একিট উপবৃত্তাকার কক্ষপেথ
পিরবিতর্ত হেয় যায় যার মেধয্ তার পূেবর্র কক্ষপথেক আটােনা সম্ভব এবং অনুসুর দূরতব্ ১ েজয্ািতিবর্দয্া একক।

a. What is the semi-major axis length (in AU) and the eccentricity of the new orbit?
যিদ কক্ষপেথর অধর্ পৰ্ধানেক্ষর আকার ১ েজয্ািতিবর্দয্া একক হয় তেব কক্ষপেথর উৎেকিন্দৰ্কতা কত?

b. Lying in wait for the asteroid at r = 1 AU is the Earth. Suppose Earth were scheduled to be
at the asteroid’s perihelion at the same time as the asteroid. How fast will the asteroid be
going relative to Earth when it reaches us? Will it hit Earth from behind, or will the Earth
overtake the asteroid?
গৰ্হাণুিট ১ েজয্ািতিবর্দয্া একক দূরেতব্ অেপক্ষা করেছ যখন পৃিথবীেকও একই িদেক ধািবত হেচ্ছ। গৰ্হাণুিট পৃিথবী সােপেক্ষ
কত দৰ্ুত েবেগ ছুটেব যখন আমােদর িদেক ধািবত হয়। কক্ষপেথর ঐ অবস্থানেক গৰ্হাণুিট িক আেগই পৃিথবীেক পার কের
যােব না পের?

c. Suppose that we observe the interaction that changed the asteroid’s orbit and therefore know
that the asteroid is headed our way. How much warning do we have (in years)?
ধর েয গৰ্হাণুর একিট সংঘষর্ আমরা পযর্েবক্ষণ কের জানেত পারলাম েয এবার এিট পৃিথিবেত আঘাত করেবই। আমােদর
কােছ কত সময় রেয়েছ এই ঘটনার পূেবর্ (বছর একেক)?
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